il 5{@{; PME

NMe vant to solve th's moded :‘cu'a'c‘i‘/e? ;

T T r gy 2
‘ X.J - P”lf( ;13 r ih/}ﬁ{i

L

(ke MLE problem

- & = = — ]
moax Tz L = Likfie )+ Xl (20 ¢ Likfr) + coust
Lik, fik 22 Y f / /
= 2 ~Kkfier X 3 () 1 Likfh )#/r consT
N




A acT we  USR e af-r—- c/omklt"nw as  coord (nats. urofm

05, v(v als S’a&'}fa. orf fv‘ @Jn (,oofoéc."a& ﬁ\ (#)



it 2 AJ § F (fm pak-1 PMF . col(L)= lCEF)=1 )

L & chat(), k1K)
If test_ teminate ( ﬂzk, f]k) (¢ TRUE :

Break.

Revwe -1, .

Aljo‘ paale | - o:o:quu F X, /\):

Init : ([« y f;) e mitlx,N).







